ROI

— Burst
e =
L6 2 0’ —
%) O (0] — ]
=% oo— 2
=2 = e =
10" = —_
(i I I _— (Wt T N || AL 1" ey || I [ Il' 'l N O [, T 1 B~
IO[I IIII I IIIiIIi |I II IIIIIIl I1IfIII II:III IlI |IIIII III LIIH IIIrIﬂII) IIII IIiI III IIIII IIIII III II IIIIII IIII II II LAl hI i ' II I II IIIII'II l IIII‘II IIIIL . III IIIIIIq III IIIII III ILI IIII I " II J IIIII lI"IIIIIII| |JI III I |] III th:II II |II IIIIIIII ! I JIIIIIIIII! I.IIlIIIII ! II ki IlII II .III."“I IO %
_ 7
&I Qg 10° o
<+ 5gONM > 10°,
025 52 7 3
= = B 10° ©
'I OI ; am II Il I I II IIIII I III n I II IIII I II III IIIIII I I ! | I " IIIII I I | III \ IIII k iIIIIII \ iy IIII IIIII I II it IIII I I II IIII II | IIII \
ol e A IIJIIILILLIIUIIMIJI O 0 R

— 102 = —=10?

o — = n
ﬁmg%\é > 1 Y PPSE
pozeem. 0= == 10" H8=
=g ocEGE = = 5ol
Thgese= 100 — o £%

() — |

0 — =

107 =— | | | | | | | | | —107'
— | | | | | | | | | = Ti_Per
10 == = ’
35 B =
= = =
E&QL IO2 mmww: Ieiperp
! = = Te_Para
10 =— ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ —=
200 = ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ =
100 B = v
> = =
N 7 = —
295% =
= —
m IMWWWMW%WW
=
Iy 4 ‘ﬂI Pt [y = B
5 i ” M I Jh m“‘ A c . s

= il ALYV U O NN | | I Iy ) v | A f—

O=0% 0 iWIII ,,,,,, IIMIIWIII,,,,,,,IIIIIIIWI“ WII‘M IIIIII ,,,,,, IIIIII IIIIII IIIIIIIIIIII , II III ,,,,, IIIII MIIIIIII ,,,,,,,,,,,,,,,,, I WMWIIVIIMII‘IIIIIII/IWIIIIW ,IIIIW gt b L IIIIIIW P

i!g;‘ %) ?E — IIIII i III 'IIM IN/II‘"’WIV»W Ry IV IIIIVIIIWIWIIIII\III“IIIMM’MM IIIIIII III '\MI‘I" i . (‘ y III /II‘M ,I I-fﬁ

I I/IIIWM‘”I“IWII D A —

%4(‘“ O E ‘N\‘ IIWUVII‘I”\ Z

-15E =
15[ i
_ 10l Wl
S=o— il .
UEs E 5 v5.162.0
ST —
O L. L L L L L L L L L L L 7%
GSMX | Re 1.5054 1.4571 1.4087 1.3602 1.3116 1.2629 1.2142 1.1655 1.1167 1.067/8 1.0189 0.9699 0.9209
GSMY | R¢ 19.3705 19.4858 19.6005 19.7144 19.8274 19.9396 20.0509 20.1611 20.2702 20.57/82 20.4849 20.5902 20.6941
GSMZ | Rg 2.6300 2.5875 2.5383 24823 2.4196 2.3502 2.2742 2.1915 2.1022 2.0065 1.9044 1.7961 1.6816
hhmm 0000 0010 0020 0030 0040 0050 0100 0110 0120 0130 0140 0150 0200

2018 Oct 19



